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Find the correct answer 

1)The place value of 8 in 18567 is________ 

    a) 8000             b)800            c) 80          d)8 

2) A milkman has 250 ml of jug to pour milk. How many jugs will he need to fill 1 litre milk. 

    a) 5                   b)4                 c) 3             d) 2 

3) How many hundreds are there in Rs.500________. 

    a) 500           b) 50       c) 5        d) 0 

4) My  birthday is 30-12-2010.It stands for _______month. 

    a) August         b) September     c) November        d) December 

5) One lakh = __________thousands. 

    a) 10                 b) 100             c) 1000                    d) 10000 

6) A hibiscus flower has 5 petals. My friend has 9 flowers. So, how many petals are there in 9 flowers. 

    a) 40                 b) 50                c) 45                       d) 55 

7) Sonu gave 5 notes of Rs.100, 6 notes of Rs.10 and 1 coin of Rs.5 to the shopkeeper.How many rupees did shopkeeper 
get from sonu? 

    a) Rs.460          b) Rs.365            c) Rs.565             d) Rs.500 

8) The marathon was held for a distance of 10km.What is the distance in meters. 

    a) 8000m           b) 9000 m           c) 10000 m           d) 10 m 

9) Ten times of 100 ml kheer is equal to ______. 

    a) 1 litre           b) 10 litre              c) 100 litre           d) 1000 litre 

10) Geeta started at 3:30 pm to railway station and she reached in 1 hour. Now what was the time in railways clock ?                 

    a) 4:30 p.m          b) 16:30 hours       c) 5:30  p.m                d) 15:30 hours 

11) Ramu went to shop to buy 1 kg rice for Rs.35.How much money he needs to pay for 10kg rice? 

      a)  Rs.550.      b)Rs.450              c) Rs.350           d) Rs.250 



12) The foot ball match started at 4:30pm and ended at 6:00pm.In how many minutes the match was completed? 

      a) 30miutes     b) 60minutes      c) 90 minutes      d) 120 minutes 

13) Things look wide and big at front and narrow and small at the other end. 

       a) Things in front are closer and other end are farther.                       b) Both look the same size. 

       c) Things in front are farther and at the other end are close.             d) None of the above. 

14) Ayaan’s water bottle holds one liter of water. He drank 300ml of water and his friend Ramu drank 250ml.How much 
water is left in his bottle? 

        a) 500 ml.             b) 450ml.              c) 600 ml.           d) 800ml 

15) Which number is in opposite face of 5 in the dice? 

        a) 4           b) 3         c) 2         d) 1 

16)When we multiply 1 with 98, then the product is _______ 

         a) 8.        b) 9          c) 89.       D)98 

17) 10 minutes past 8 means _____. 

           a) 7:50          b) 8:00.              c) 8:10                 d) 10:00 

18) The cost of 1kg Carrot is Rs.20 Ramu bought 5kg carrots for Rs.100.Choose the correct operation 

        a) 20+5          b) 20 – 5              c) 20 × 5.              d) 20 ÷ 5 

19) How many edges does a cube have ? 

      a) 6                 b) 12             c) 8.          d) 5 

20) Find the view of the car? 

 

a) Front view                                                    b) side view 

 

      c)  Top view.                                                         d) back view 

 

                      

 

 

 

 

 


